CASBEELBIZH 15 ERIEHDRIFERERHBE

CASBEE-5& (2010%ver.1)

T HNLEFH AL
HTROZRICREREHEGTOMEEZIAML TS,
B & B B EFTZIEEEES “IE
W1, NhECRERE X R IDHAE
1.1 BYoRaEE
(TAh) XEEBEEERICERH LTS 10 0.73
N ES]= 2|;B RIS 21| =R 3| sk tERE
1.0 0.27 |wr|THRILF— 1| B DA T
INET] 1.0 0.03
1.2 BARIRILT—DFA
(AAvh) XEERREHRCEHBEL TSN 3.0 050 [|w~|zrLx— AL ST )= 21| BRI - EIEFIE
3.0 0.50 |wi|THRILF— 2| BRIALE -FIF 22| BRIMNF -DEHFIRA
Mgt 30 | 015
1.3 BRiERATLOEERIL
(@ivh)  XEEFREBRICERHEL TGN O 50 | 1.00 |LR1 |I7~)L=\f— 3 Eﬂﬁ’/?ﬁv_’/—\ﬂ)gﬁﬁﬁtl | | |
EHERAREOERAE
Mgt 50 | 022 |
14 FBEATLDOENER
(aAUh) XEESBEFEHRICREEH LTSN 30 050 |wi|zrix— al=mEm s1|lE=mys
3.0 0.50 [wi|zZHRiF— 4|hEp0ER 42| EREERFH
/INET] 3.0 0.15
1.5 BR-ITUTILAE
(FAVR) XEREFRZEHRICEHL TSN O 4.0 0.08 |[wre|&R-<TUTIL | 1|/KERRE 118K
HiKEBERE | LEDHRAREEZDFA 3.0 0.08 |w~|&®-<7u7L | 1|k&ERRE 12|FAFIR-HHKBERA | 1|FKHACRTLAEADEE
3.0 0.04 |r|&F-wTUTIL | 1|KERRE 1.2| oK FI A - KB RIA 2| BB AT LEAOEE
3.0 0.06 |[wre|&E-=TUTIL | 2|kBAMEEOERBER |2.1 | EHEREOHIR
3.0 019 |[wre|&E-<FU7IL | 2|fkEisuaEOERESN |2.2|BERSEASOMREER
3.0 0.16 [|wre|&E-RTUTIL | 2|kB4MEEOERBYIR | 2.3 BEHBIZETEUS (2 LHORR
40 0.16 [re|&EE-=FUTIL | 2|krB4nEROERELEIR |2.4| R a5 209120 H O
2.0 0.04 |[wre|&EE-RTUTIL | 2|kBEREROERBER |2.5|#ETRERAL DELSNIAH
5.0 0.19 [®|&EE-<FU7IL | 2[kBEraRoERREIR |2.6|8s0BHATEER EAOREH
INET| 3.6 0.31
1.6 A7 A49)LCO24kH 3
(AAVh) XEEBEEERICEHL TN 4.7 | 1.00 ||_R3|5i;5(i111,71~£%iﬁ 1|i1b,ﬂ?;‘ﬂﬁ§1t’\0)ﬁ&§ | | | |
LEDRAREESMNEREDRA
INET| 47 0.13
1.1 BRR BE 1L it 3R | D HEE D 51 38 0.69
W2 [E—~7ASURXE I DHEE
2.1 REMRIEOMEE
(@EAvh)  XEEBEEBRICEHEL TS, 20 052 |o3|=sEis @i | 1| EMBEORES LA
3.0 0.26 |Q3|=s B (EthR) | 3|ttt 7 AT ~DEE|3.2| B B RIRED R £
1.0 0.22 |[wro|BhthsiEREE 2|t EREE A~ D EIE 22| BRRBEELORE
INET] 20 0.97
2.2 BEAEHIH
EAh) KEEFREMRICRHEL TS, 50 | 1.00 [w=s|suesims Jmmm~ors  |2ifmmsss~oamms | s[xaamm
RIS BB E A AR
INET[ 5.0 0.03
2.Te—F747U1 % 5K 1 D HEHE D F A 2.1 0.21
W3 [EHFmLxdRIDHEE
3.1 MAM%EDELE
@xoh) XERFREMRICEBLTI0, 3.0 047 |oz|s—t=zise o|mimts -t aEH 21|m& - OB ALK 1|maE
3.0 0.12 |Q2|y—EXitkE 2|t R4 - S5 2.1| B8 & - ER A DT FREE 4K 2|5 - H IR 1ERE
3.0 0.09 |Q2|y—EXitAE 2|t - S5 2.2| 50 &% - R DT FAE 5 1| SR A4 F O it FAESK
50 0.09 |Q2|y—EXitAEE 2|t - 1S58 2.2| 3B & - BB DT FHEE 4 2|9 BT L IF M DB L ERERR
BEEMPEDERE 5.0 0.04 [|o2[y—E=xmae 2|t Pt - fE AT 22|88 - BHOTAER 3|xmmEt R OEHLEMR
3.0 0.03 |Q2|—ExitEHEe 2| - 1S58 2.2| B0 & - BB M D T 3K 4| Z=RBES VO FEH L BRI
4.0 0.06 |[Q2|r—E=fike 2|t AT - 5581 2.2| &R &R - B M DT FAE S 5|25 - HHOKER S O EH LB
3.0 0.09 [Qz|4—E=MEE 2|t FtE - 15 8B 22|48 & - SR+ OO Tt FR4E 3% 6| EERBRBOFHLERE
M| 3.3 0.70
32 BRiEDOEHM
(QAUE) HEE OB ERRCRELFRERBL TS | 40 017 |oo[r—t=xizse 3| sirste - EHE sa|mmoES 1|=mmEoEm®
50 0.17 |Q2|¥—ERM#EE 3|3 - E T 33|H‘IEDEHE 2|¥KECE DEHE
50 0.11 Q2| Y —EXMEE 3| - E T 33|HRIEDEHHE S|ERECRDEHIE
BEEZEEWAOZELICTHEL 5.0 011 [|oz[#—exmae 3|t st - E 33|RiEOEHH 4| EIERB OB
50 0.22 |Q2|—ERMAEE 3|3 - EHTE 33| HXIFEDEHHE 5| fEtE R DT
3.0 0.22 |Qz|9—ERIEH: 3|3t - EHE 33RO EHM 8|/ NI T YT RAR—R
INET| 44 0.30
IIRFMILFKIOHLDTFH S (LEFEL2IER) | 3.6 0.10
BEREHDO#HTY(LFEEIEH) 3.4




